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Punktscheibe Schiitzen

Verein Startnummer DSB-
Berechnung

10.

11.

12.

13.

14.

HAHN, Philipp

LEIDEL, Christian

HERBST, Anja

ROSSEL, Nicole

GLEISSNER, Vanessa

BUCHLER, Sebastian

STAMMINGER, Anke

BAUMGARTNER, Tobias

HERTLEIN, Oliver

HEUBECK, Sabrina

KEIL, Michael

ESCHENBACHER, Lena

OPPELT, Diana

PFEIFFER, Doris

Weihenzell

Sachsen

Windsbach

Lehrberg

Petersaurach

Oberdachstetten

Weihenzell

Elbersroth

Neuses

Alberndorf

GroRBhaslach

Meinhardswinden

Rauenzell

Reichenau

484

530

62

538

647

488

631

328

206

68

404

67

235

333

109,0R -
101,0R +
8,0T =
16,0P

109,0R -
101,0R +
10,2T =
18,2P

109,0R -
104,3R +
14,87 =
19,5P

109,0R -
100,7R +
201T =
28,4P

109,0R -
104,6R +
26,1T =
30,5P

109,0R -
96,0R +

19,9T =

32,9P

109,0R -
100,2R +
24,5T =
33,3P

109,0R -
97,0R +
23,6T =

35,6P

109,0R -
101,6R +
34,8T =
42,2P

109,0R -
92,7R +
26,8T =

43,1P

109,0R -
97,4R +

31,7T =

43,3P

109,0R -
96,6R +

35,4T =

47,8P

109,0R -
99,7R +

38,9T =

48,2P

109,0R -
81,8R +
22,6T =

49,8P

16,0

18,2

19,5

28,4

30,5

32,9

33,3

35,6

42,2

43,1

43,3

47,8

48,2

49,8

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte



15.

16.

17.

18.

=

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

Verein

GRAUF, Benjamin Meinhardswinden

HIRSCH, Carolin Elbersroth
HOFMANN, Christian Lehrberg
KEITEL, Michael Sachsen
STARK, Bernd Vorderbreitenthann
HUTTNER, Tamara Vorderbreitenthann

SCHULTHEISS, Julia Winterschneidbach

SEIS, Tobias Aurach
PRINZ, Eva Wiedersbach
SCHMIDT, Michaela Lehrberg
WEIS, Alexandra Rauenzell
HIRSCH, Andreas Elbersroth
KREUTZBERGER, Markus Bruckberg

ANDRAE, Bastian WeiBenkirchberg

SCHEIDERER, Jeannette Rigland

BAUMGARTNER, Christian Elbersroth

Startnummer

54

289

769

595

279

312

117

506

746

537

292

290

134

743

576

287

DSB-
Berechnung

109,0R -
93,2R +

34,4T =

50,2P

109,0R -
101,0R +
42,4T =
50,4P

109,0R -
100,2R +
45,2T =
54,0P

109,0R -
99,2R +
45,67 =

55,4P

109,0R -
96,5R +
4417 =

56,6P

109,0R -
102,0R +
50,2T =
57,2P

109,0R -
98,0R +
47,6T =

58,6P

109,0R -
92,1R +
43,2T =

60,1P

109,0R -
93,9R +
45,0T =

60,1P

109,0R -
101,0R +
53,2T =
61,2P

109,0R -
95,6R +

50,4T =

63,8P

109,0R -
101,3R +
56,6T =
64,3P

109,0R -
87,8R +
45,6T =

66,8P

109,0R -
100,5R +
59,5T =
68,0P

109,0R -
97,2R +

58,0T =

69,8P

109,0R -
99,7R +

61,0T =

70,3P

50,2

50,4

54,0

55,4

56,6

57,2

58,6

60,1

60,1

61,2

63,8

64,3

66,8

68,0

69,8

70,3

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte

Punkte
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